Area I_ight 4in dia and 5in dia aluminum pole anchor kit

Installation Guide

www.landscapeforms.com

Date: November 1, 2023
Ph: 800.521.2546

Included components

1x —wooden drill template Anchor kit

INSTALLATION PROCEDURE FOR ANCHOR BOLTS:
1. Prepare footing as required by local codes.

2. Install anchor hooks, hex nuts, washers and wooden template as shown in Fig 1. Level

template in all directions.

3. After footing has properly cured, remove wooden template. Do not remove lower

hex nuts or washers.

Included: hardware is galvanized

(4) anchor bolts, 3/4”-10x 17” x 3” hook,
(8) heavy hex nuts, 3/4” x 10, (8) flat washers, .81 ID” x 1.5” OD x 0.13” thick

Tools Required
* Safety glasses
¢ Wrenches, 1-1/4”
* Level

LIGHTING LAYOUT RECOMMENDATIONS:
Refer to the product data sheet available at www.landscapeforms.com for
recommendations for light pole spacing.

Landscape Forms is not responsible for site preparation and footings. Refer to pole
drawings for pole calculations required for footing design.

WARNING! Pole mounted luminaires must be attached either before or immediately
after pole installation. Failure to do so may cause vibration damage to the pole and
will void the pole warranty.

ASSEMBLE WITH CARE! Pangard II® Polyester Powdercoat is a strong, long-lasting finish. To
protect this finish during assembly, place unwrapped powdercoated parts on packaging foam or

other non-marring surface. Do not place or slide powdercoated parts on concrete or other hard or

textured surface — this will damage the finish causing rust to occur. Use touch-up paint on any
gouges in the finish caused by assembly tools.

landscapeforms

/THREADED
JHOOK~_

3/4”

,~CONDUIT

N [44mm] 1-3/4” MAX
V4 — [30mm] 1-3/16” MIN
[19mm] ‘ ‘ m

MAX Xij § } [TT orape

a

/ '[19mm] \

/ D3/4"
© 4in POLE =1l /

\

[132mm]
57/32"

CONDUIT
CLEARANCE

\ 5732 /

4” diameter pole

il?mm}
[ H3/4"
* f® 5\';_[POLE & 4 PLACES
[153mm]
é*..
“114mm |

D412
CONDUIT
CLEARANCE

5” diameter pole

Page 1 of 1


http://www.landscapeforms.com/

NOrth pOft Area Light

Installation Guide

Date: November 7, 2023
www.landscapeforms.com  Ph: 800.521.2546

Included components

g — — S—
) . imi
o >/ 5 Twist lock
\ - &= receptacle,
il L J optional
Luminaire, Luminaire,
single post single post top
top mount, mount, with Shorti f
no twist-lock twist-lock or |.ng cap tor
Twist lock,
optional
p7any Zany 7any
12t 14ft  16ft )
Pole with base plate ) Q)

Nut cover with 1/4-20 —

x 5/8” button head Base cover with (4)
cap screw M5 x 10mm SBHCS
(optional)

@

6X - Set

screw for
Tenon mt

i]‘.’l i g
GFCl outlet
(optional)

Motion
sensor
(optional)

WARNING! Pole mounted luminaires must be attached either before or immediately after pole
installation. Failure to do so may cause vibration damage to the pole and will void the pole
warranty.

WARNING! Installer must provide strain relief to line-in wires where they connect to light fixture
and occupancy sensor wires. Failure to do so may cause electrical failure and will void warranty.

WARNING!: LED cartridge and driver are not rated for connection or disconnection while
energized. Doing so may damage LEDs and will void the warranty. Disconnect incoming power
before making or breaking any electrical connections.

Tools Required

Safety glasses

Wrenches, 1-1/8”

Wiring tools and connectors

Proper personnel, crane or lift for hoisting unit onto anchors

Level

Dimming control, if required

Hex keys, 5mm, 3mm (for base cover option), 5/32” for nut covers
Twist lock photo eye control, if required

Phillips screwdriver

CAUTION! This unit is heavy. To avoid injury or damage to the finish, we recommend

using a crane or lift for hoisting the unit onto the anchors.

Landscape Forms is not responsible for site preparation and footings. Refer to the

anchor kit installation guide for setting the anchor bolts.

landscapeforms

INSTALLATION PROCEDURE FOR LIGHT POLE:
Note: assembled unit is heavy. Wiring connections should be made before lifting pole onto anchors.

RUN WIRING:

1.  Using protective padding, position base plate of pole near conduit location. Ground line in must
be connected to ground lug near handhole. Ground wire extends up the pole for all
configurations.

For poles with GFCI outlet:

1.  Runline-in voltage wiring inside pole base plate, extending out through the receptacle hole for
the GFCl outlet. Connect line-in voltage wiring to line terminals on outlet receptacle. Attach
receptacle to pole. Refer to wiring diagram for GFCl outlet.

For poles with occupancy sensor:

1.  Runline-in voltage wiring inside pole base plate, extending out through the top of the pole.

2. Run wiring from occupancy sensor through the sensor mount bracket and out through the top of
the pole.

3. Thread the occupancy sensor onto the mount bracket until snug, with the sensor aligned with
base of the pole, see Fig. 4.

4.  Connect the occupancy sensor to the line-in voltage wiring, refer to wiring diagram for occupancy
sensor.

For single luminaire mount:

Note: When ordered with Twist-Lock Receptacle, the receptacle is pre-wired into the top of the

luminaire.

1.  Runline-in voltage wiring inside pole base plate, extending out through the top of the pole.

2. Connect line-in voltage wiring to the wires exiting the bottom of the luminaire hub. Refer to wiring
diagrams.

3. For units with twist-lock receptacle, replace supplied shorting cap with photo-control (supplied by
others).

INSTALL LUMINAIRE/POLE ASSEMBLY

1. Install single luminaire over tenon mount on pole. Using 5mm hex key, install and tighten all 6 set
screws to secure luminaire to tenon, see Fig. 2, level as required. For asymmetric light distribution
luminaires, one arm of the luminaire will be clearly marked as ‘Front’, see Fig. 1.

2.  Lift the light pole into position over the installed anchors (refer to Northport anchor kit installation
guide) as shown in Fig. 3. Ensure that the base plate is resting on all four washers.

3. Install washer, lock washer and hex nut as shown in Fig. 3.

4.  Plumb and level the pole and tighten all anchors

Page 1 of 5



NOrth pOft Area Light Date: November 7, 2023

Installation Guide www.landscapeforms.com  Ph: 800.521.2546

ASSEMBLE WITH CARE! Pangard II® Polyester Powdercoat is a strong, long-lasting finish. To protect this finish during assembly, place unwrapped
powdercoated parts on packaging foam or other non-marring surface. Do not place or slide powdercoated parts on concrete or other hard or textured
surface — this will damage the finish causing rust to occur. Use touch-up paint on any gouges in the finish caused by assembly tools.

\ /HEX NUT

LOCK
ARM INDICATES WASHER™
FRONT OF LIGHT
FOR ASYMMETRIC FLAT
DISTRIBUTIONS

WASHER

7
g

ON BACK SIDE

/ OF POLE
—
SIDEWALK ——
—

Fig. 2 — Install single post top
luminaire on pole

Fig. 3 —Install pole

S M10 x 30mm \ /
HANDHOLE — / SET SCREW

Fig. 1 — Pole orientation

landscapeforms

Page 2 of 5



NOrth pOft Area Light

Installation Guide

Date: November 7, 2023
Ph: 800.521.2546

www.landscapeforms.com

PROCEDURE FOR WIRING NORTHPORT:
The Northport luminaire is assembled at the factory. The light cartridge is mounted into the head of the luminaire and will not need to be removed during installation. The LED

cartridge is wired to the driver (located in the base of the luminaire) at the factory. Use of LED drivers other than the supplied unit is not recommended and will void the warranty.

Line-in wires should be connected to the terminal block as shown. Optional dimming control is not included.

The wiring schematics are to be used to connect the unit to line voltage. It is the responsibility of the installer to make sure that all connections are made in accordance with the NEC

and local building codes. Connection hardware not included.

WARNING!: LED cartridge and driver are not rated for connection or disconnection while energized. Doing so may damage LEDs and will void the warranty. Disconnect incoming
power before making or breaking any electrical connections.

TO

LED

CARTRIDGE

LED [+)

TO LED
ELEMENT

LED {+)

DRIVER

OUTPUT

DRIVER

0-10V |-)
10V (+)

)1

INPUT
[ :

DRIVER
PLATE

—

1) ARM

INPUT \J
L

—

+ +
+ o+
L4+ - GROUND
+  +H[NEUTRAL gk
- HONE

'

SURGE PROTECTOR

2 PIN CONNECTOR

3 PIN CONNECTOR

TO LED TO LED TWIST LOCK
CARTRIDGE ~ ELEMENT RECEPTACLE
EHE 'l Ak
EE 33 2z
2 z DR [ =
f-
7 DRIVER
| |zl= 1 —4ID PLATE
Ho= 1z [
8/8)3)2 8 |8 1) ARM
OUTPUT OUTPUT | 1]
DRIVER DRIVER — T | |]
_’-7:4_—— —1 [GEQUND
INPUT INPUT e ey S
L M L M 1
S 1 T [LIME

SURGE PROTECTOR

3 PIN CONNECTOR

landscapeforms

WIRING DIAGRAM: No twist lock: DR301 luminaire

WIRING DIAGRAM: With twist lock: DR301 luminaire

Page 3 of 5



NOrth pOft Area Light Date: November 7, 2023

Installation Guide www.landscapeforms.com  Ph: 800.521.2546

TO LED TO LED
ELEMENT
TO LED TO LED ELEMENT TO LED TO LED TWIST LOCK
CARTRIDGE CARTRIDGE ~ &| = CARTRIDGE CARTRIDGE 7| [ RECEPTACLE
@ = ] I 2 E(:?E T (L ] o
=199 5x 3| g
[ | g << 3| 2
= I y AL :-.. %
2 OUTPUT DRIVER  DRIVER 8 1l Y OUTPUT DRIVER -
PLATE PLATE e ™~ A PLATE LD
B oo R I K —4In (11— 0 J4 193 43493 O
515128 5 522 |DRIVER o 2528 5323 |DRIVER o
eSS —AID & EEEEEEEE o
OUTPUT | | OUTPUT | | |ypuT | ARM > OUTPUT | [ QUTPUT | | \npUT =
L N T |L N p
DRIVER | | DRIVER [ S DRIVER | | DRIVER
7/ 34» + JG NIL G|N|L
0+ e +
INPUT INPUT %+ n ;\ INPUT INPUT —~
L N L N + . + ' L N L N
F ]
- - - - - B [ \ - - - EN -_ - - =
3 PIN CONNECTOR
2 FIN CONNECTOR 3 PIN CONNECTOR
WIRING DIAGRAM: No twist lock: DR306 luminaire WIRING DIAGRAM: With twist lock: DR306 luminaire
landscapeforms
Page 4 of 5




NOr'th pOrt Area Light Date: November 7, 2023

Installation Guide www.landscapeforms.com  Ph: 800.5621.2546

INSTALLATION PROCEDURE FOR NUT COVERS OR BASE COVER:
For nut covers:
1. Install nut covers (shipped with pole) as shown in Fig. 5.

FIXTURE

For base cover:
1.  Place base covers in position. Using 3mm hex key, install M5x0.8x12mm
button head cap screws (4 places) as shown in Fig. 6.

4 N

VIOLET-&—

Hemai

RED—&-BLACK

GREEN—@-GREEN-
WHITE—@—\WHITE—

OCCUPAN)l

SENSOR
\ / OCCUPANCY >
— SENSOR MOUNT

BRACKET

RUBBER \\\__//

GASKET

=

/

GNL

WIRING DIAGRAM: occupancy sensor for single

post top luminaire
PLASTIC Pl

NUT . BASE COVER
TO FIXTURE
(el
-
[ A ! LOAD OCCUPANCY \ M5 X 0.5 5
SENSOR ’
] 12MM BHSCS
[ 4 PLACES
H o l LINE Fig.4 — Install optional occupancy sensor
4/?] —
ﬁ
e

N G LINEIN L

WIRING DIAGRAM: GFCl outlet

Iandscap eforms Fig. 6 — Install optional base cover
Page 5 of 5




	LF_PoleAnchorKit_4in_5in_Installation_Guide.pdf
	Installation Guide

	LF_NorthportAreaLight_Installation_Guide.pdf
	Installation Guide
	Installation Guide
	Installation Guide
	Installation Guide
	Installation Guide


